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Tahle 1: Oxiginal decision teble

(a) Most common value / average

Average of Age iz 504
Most common value tn Hypertension is yes
Most common value in Complications is none
' pion | Commplicafions | Dol
Hypertension '
3 yes obesity | pretem |
3| % you oo |
4| 38| »o none
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Table 2: Decision table

(b) Mosteommvnlue/wmiﬂuhdhnw
follterm

Average of Age is 95.99
Mot common valne in Hypertension Is no

1



Most comman value in Complications is none

preterm
Average of Age is 25
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1 no pie ] ﬁ
3 22 yes ik protermn |
3 preterm
i 5 noe | el
5 ~ none | Tl
6| 56 “yes . alooholism preterm
T 40 no none
Table 3: Declaion table

(c) Global Closest Fit (static replacement)

Agtes — AQCorin =4D—§4=16
d1,2)=1+1+1=38
d1,3) ~14+140=2
d{1,4)=1+140=2
d(1,5)=1+14+1=3
d(1,6)=1+141=3
HL,T)=1+1+1=8
tie betwasn 8 and 4 — take first clogest
. missing sttribute values in 1 are replaced by sttribute value iy 3

d(6,1)=8
d(s.z)a-:-"!+o+1=1.eas



d(s.a)-1+o-¢:1=1m
4(5.4)-=ﬁ+l+1=3-5
d(5,6)=14+0+1=2
d(5.7)=1—':-+1+1=m
3 Is the closest
- missing atiribute values fu § are replaced by attribute vales in 3

d(6,1)=3

46,2)=14+0+1=2

d(6,3)~1+0+1=2

d6,0)=1+1+1=3

d(6,5) =2

(6,7)=1+141=8
tie between 2 and 3 — take Sret closast
.'.mmﬂlﬂhﬁmIQIMmeﬂmhﬂ

d(7,1)=3
X7, =1+1+1=8
d(7,8)=}-123+1+1=2.75
d(7,4) = = +0+1= 1875
d(7,5)= ;5 +1+1= 2375
d(7,6)=3
4 is the closest
. misaing sttribute values in 7 are replaced by attribute values in ¢



Attributes Decialon |
m@n—
1] 88 yer noms
2] ™ yes obesity prederm
3| 28 ye& Dome
4] 0 0 none ﬁ
;;3: yeu none i ——
sicoholiam pretéryn
7| 40 : RONE
Thble 4: Decision table after first jberation

(d) Concept Closest Fit (static replacement)
mmmhwmmm&whwhuw
separately.

fullterm
Attributes
Age
1 ? 7 none
= =
[ yes
7 0 T
Table 5: Decision table fior fallterm

Agtmor — Agemin =40~ 26 = 14
dL4)=1+140=2
d(1,6)=1+141=3
1,7 =1+141=3
4 Is the clogest
- missing attzibute valuss in 1 are replaced by sttaibute values b ¢



d1)=3
A5, 4) = S + 14122571
1(5,7)38-1:+1+1=2439
7 s the closest
. missing sitzibute velues in 5 are replaced by attribute values fn 7

d(7,1)=8
A7) =140+1=2
d7,8) = 3 +1+1=2420

4 s the closest

-, missing attzibute values in 7 are replaced by sttxibute valnes in 4

[ Complications |
1 ” no nons
T Ay
£ :
7140 : nane Tollierm |

Table 6: Decigion tabis for fullbann after Lst iteration

There are still attribute values missing, 50 another iterstion is needed,
df5,1) = S +1+ L=2571
d5,4)= —4+14+1=2571
4(5,7)=ﬁ+1+1==m

7 is the closest

~. missing ettribute values in 5 are replaced by attribute vahuss in 7
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Table 7: Decision table for fullterm after 2nd iteration

preterm
Attribotes i Decisiog |
_’_T“ yos obesity ME
3 yes ~ nome -]
8 ves _%

Thable 8: Decision table fur preterm
Aftones — AQernin = 28— 2 =4
d(6,2) =140+1=2
d(6,8) <14+0+1=2
tie between 2 and 3 ~ take first cloest
- missing attribute values in 6 are replaced by ettribute vahues in 2

Atirlbutes
|| Age | Hypertension | Complications
iT“ = obesity =
L3 yes nons rebey
BB ! yeu alocholien | peetam

mleD:Dedsimhbhhmdhlum

All missing attribute values have been replaced




Tabls 10: Decision table




